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15.10.2022 ferel T are]

“Terc” ohl SheTd foReeh g fore s off ?
fersop it

The tales of “The Panchatantra” was written by :
Vishnu Sharma

TaH §g 3 AT H 31947 Ugel SueH i feam e |
T - - G

In __, Gautam Buddha delivered his first sermon at Sarnath.
Dhamma-chakra-pravartana Mudra

fraferRea ° @ forw wraes & el wia ef@u 9 ?
AT

Which of the following ruler’s court poet was Harishena ?
Samudragupta

“Stfstan” R & erTH aTel IeTer ITereh ot AT ferfa |
A

Write the name of Mughal ruler who reimposed “Jaziya”.
Aurangzeb

freferRee o 2 fopdr st gro g fobe 1w et werergut 2ivrerl & & Wb AT ST | 7
R E

Which of the following is considered as one of the most important contribution that was

introduced by British ?
Railways
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6. Trafafgadasar 1857 % fogg e aformen 7
T 1A SOt <ht iRt ot foife e aaiafta o e |
Which among the following was the consequence of the 1857 revolt ?
Transferred the powers of the East India Company to the British Crown.

7. 1930 3 were it GRT “GRA ST ST JE T Tl BRI 7 :
forfeer yrem Y qugEt @ gt % Ty v et e Aol U e 3 wreaw |
AU i FAHT |

The reason of launching the “Civil Disobedience Movement” by Mahatma Gandhi in
1930 was :
Asking the Viceroy through a letter containing Eleven Points Programme to
remove the evils of the British rule.

8. fmAferfiga o @ 9 Toas YRE 1 TEel Wt TaRR—SeT o7 ?
. TeraTeET

Which of the following was free India’s first Indian Governor-General ?
C. Rajagopalachari

9, frm=fafaa o @ fora srfrfamm gro st @t wa @ s1em e o ?
WA GihR AT, 1935

Burma was separated from India by which of the following Act ?
Government of India Act, 1935

10. e ot fsrfear foriror @ e vt &6 forw, Wil Tl @91 (INA) 61 7re feme T 2
TS <% S
Who raised the Indian National Army (INA), to free India from British control ?
Subhas Chandra Bose

11, FrfiRea § & i gech 1w w1 si el s B & 7
HerRE 9R

Which of the following is the Earth’s largest inland body of water ?
Caspian Sea

MASTER 3 _(g 02

£ -
( feem SraraeTe )
qeen Fase

9]
1N




12.

| S H IR Jhg & A § ot hd fol deh wan o wel R | R arg e
ERS I
TOBIT ()

The normal rainfall increases suddenly and continues constantly for several days is known as
the of the monsoon.
Burst

13.

Sft.ea & (GMT) w1 Ol S s 7
Hafers dfiwemn

What is the full form of GMT ?
Greenwich Mean Time

14.

wfd 1,000 @M W Sfifera st <Y nfifen S w1 fopg am @ ST ST R 7
e (i) s=T X

By what name is the annual number of live births per 1,000 people called ?
Crude birth rate

15.

TR o STTeT W o fFeififaa 4 & fre rser A are s § 7
e ol

Teak forests are found in which of the following states of India ?
Madhya Pradesh

16.

ST TN oh AT Iqreeg & |
ot Hieeh Rig srgeganfern

was the last deputy chairman of the Planning Commission.
Shri Montek Singh Ahluwalia

1%

FrerferRaa o @ 61 1 85 Wtd w1 wow s FRiReT R 7
s S

Which of the following sector is the largest employer of India ?
Primary sector
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18.

FrerfrRa & fohw T bt g Shifd o fore it T ST Toret o &9 o AT @ & ?
LEiC]

Which among the following states was chosen as the Initiation site in India for Green
Revolution ?

Punjab

19.

1969 # ferart e Frsft Sfeht st wtarentor fomar e e ¢
14

How many leading private banks were nationalised in 1969 ?
14

20.

1991 < 37iies Germi & w1e Ju oy 9 B Trestien &6 o o sTfRE o |
T Sl SedTeH
Industries were reserved exclusively for the public sector after the economic

reforms of 1991.
Atomic energy generation

frfaftad o @ =R o s “reudiesh % Rl @ we” F e ¢

21
TG 29
Which among the following Articles is for “Protection of Intetests of Minorities” ?
Article 29
22, 42° WG o HTEW § GiGHW § S 91 721 DPSP (Us9 ife % e Rigiar) strermm 7
FEE AR 3R rgeeh faftes wgw |
Through the 42" amendment, which of the new DPSP (Directive Principles of State Policy)
was added to the Constitution ?
Equal justice and free legal aid.
23. Frafafga # & = @ difers wdea € ¢
3 aft
Which among the following are Fundamental Duties ?
All of these
MASTER 5 02




24,

ITDE 245 H IR GUGHIHR B |
CaEQICEIE]

As per Article 245 s the function of Parliament.
Law — making

25.

LRI 3TN formferiea o @ fere@ g 2 ?
g 3R =T Ha

The Sarkaria Commission is related to which of the following ?
Centre & State Relations

26.

EEANICE HITHATR |
AhR gl

Light year is a measurement of
Stellar distances

27.

aft A T A A ®
BIEGISH

The element common to all acids is
Hydrogen

28.

e THT YehT o wei YA g E |
EANICH

Non-stick cooking utensils are coated with
Teflon

29.

e & i Tl e s 2 ¢
Sifeth

Which of the following is the most intelligent mammal ?
Dolphins
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30.

iert <t feremre fore@ wwifed gar g ?
SERTNT <! T[UTEIT, HTET 3N Srafe

Plant development is influenced by
quality, quantity and duration of light

31.

Rom et 22 L B s e qaramad ¢

971317
4 511 13
Out of given fractions 9713 17 which one is largest ?
11
13

32.

(2.1 + (5.8)3 ~
(2.1)2-2.1x5.8+(5.8)2
7.9

33.

Teh gl H, 70% rwreff witfersht 7 3efivl gu aft 80% arreff aebor o ool g | afe 5 &A1 feralt
#H 55% atereff Ieiiol gu, o gt Tt # fope wfersra anereff armshol g 2

In an exam, 70% candidates passed in physics and 80% candidates passed in reasoning. If
55% candidates passed in both these subjects, what percent of candidates failed in both

subjects ?
5%
34. 308, 125, 45, 120 31 102 1 3t &
The average of 308, 125, 45, 120 and 102 is
140
35, A[9-44/5 =
\/g—f—Z
36. ‘Toy’ ol Gy faede = g ¢
g + Y
37. “sfa- 3 wradt af e .
qfyy - feret
MASTER 7 93 02
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38, Sy H fovard @R el — 39 Yeg g % oTU Ueh yTeg waTsy |
arfees

39, ‘a1 e e B
S

40. ‘Toreehl i vEet € o mme =nfea w6 avef 8-
W9 <1 I Y& 8 8 L &A1 =Ry |

Read the passage carefully and answer the corresponding questions : (Q. 41 and 42)

Valentine’s Day, February 14, is a holiday that celebrates love and friendship in the United States.
Most people think of it as a romantic day to show the one you love how much you care by purchasing cards
and gifts. Valentine’s Day is also an extremely commercial holiday. People spend money on flowers,
balloons, chocolates, stuffed animals and jewellery. People also go out for expensive dinners. Valentine’s
Day is even celebrated by school children, who give thank-you cards to their teachers. Some high schools
have Valentine’s Day dances. Classmates give each other little cards. These cards can be purchased at any
store with famous cartoon characters. It is considered much more thoughtful to have kids make handmade
cards to give to friends and teachers.

Valentine’s Day is also a great day to announce your love to someone like a secret crush.
Some people even get married on Valentine’s Day. However, you don’t have to be in love to share
in the festivities. You can say “Happy Valentine’s Day” to friends and co-workers. Valentine’s Day
is not an official holiday though in the U.S., meaning government offices and schools are open as
usual. The date used to be the celebration of a Saint named Valentine who allegedly saved a young
girl’s life. It wasn’t until the Middle Ages that romance somehow got mixed in with the date and
lovers would send each other handwritten love notes. Back then you couldn’t just go to the store
and buy a card the way you can now.

41. According to the passage, is Valentine’s Day officially a holiday ?
No '

42. According to the passage, what do school children gift their teachers ?
Thank-you cards

43. Choose the correct synonym of : “tame”
Docile

44. Choose the correct antonym of : “rapid” -
Tardy
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45.

Give one word substitute for the following :
“one who is indifferent to pleasure or pain”
Stoic

46.

S YT i Ue 3N 7 L fop FraforRaa # @ i a1 3o freved 391 QA1 el & o= dee &)
TdiETd A g |
YA :
I ioerd o sl = grer € § wtueral 6t Hadt dgfg h g |
II. TR A el g Aueidl O Yoo S@r@ R |
Y 11 IO R 3T HY [ 581 IHE R |

Read both the statements and decide which of the following answer choice correctly depicts
the relationship between these two statements.
Statements:
L The Laptop manufacturing companies have recently increased the prices of Laptops.
II.  The Government recently increased the duty on Laptops.

Statement II is the cause and statement I is its effect.

47.

Teh ARl < 3T G hid §L A 3 3197 €15 B @ g1, “og 0l a1 o far <l seheitdl 981 27 |
A, BRI 91! i O 358 TR Tela & ?

e

Pointing to a photograph A said to his friend B, “She is the only daughter of the father of my
mother.” How is A related to the person of photograph ?

Son

48.

FrerferRea srem o fo e ferenedt ® & argTa o1 =15 Hifvn |
In the following question, select the odd one out from the given alternatives.
301

49,

1 SRl 2006 bt TSR T | 1 S, 2010 i HHTE 1 b1 11 fe o 2

PhellT
It was Sunday on Jan, 1, 2006. What was the day of the week on Jan. 1,20107?
Friday
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50.

¢ forelt Ffeera o § ACTIVE %t EDUIWA % &9 o hifed T ST 8, 91 3 shig § EFFECT
! K8 whifed forar e ?

If in certain language ACTIVE is coded as EDUJWA, how is EFFECT coded in that code ?
TGGFDE

51. A TG 9eieeh & w1 S 2022 H T withe & 7w & w9 1 Wi 3ii & off= gl oid
fement TamT fomam o |
EL I
Bharat Gaurav tourist train was flagged off between India and , as part of Ramayana
Circuit in June 2022,
Nepal
52. WRQ = g1 oul % offe “Homeg I Seiehiern” aﬁaﬂ%ﬁnﬁ%mwem%ﬁa
FreferRaa o & fore S ot 75 wrgeia 31 17 Thot o SugR A & ?
ERIN
India gifted 75 ambulances and 17 school buses to which among the following countries as
part of its ongoing efforts to build on the “robust and longstanding” partnership between the
two countries ?
Nepal
53, 920227, Wﬁﬁmﬁr@aﬁﬁm%ﬁ%m “Sioey fewiifesh et o’ 6t wmun
w7
.
In June, 2022, India announced the ‘Commonwealth Diplomatic Academy Programme’ with
which among the following countries ?
UK
54. Tt A TAF % Befiehieedl & forg ADS st 3qfd 8q T Serree ot 3i sueh aars
U1 < HTY Ueh AT 1O TR EEATER o |
RA s fifiee
Company signed an MOU with a Belarusian Company and its subsidiary for the
supply of ADS for helicopters of the IAF.
Bharat Electronics Limited
02 10 J MASTER
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55. Ttferea @ @ fopw st T 3 ARl B A A @ A AN YE R R 7

femmae wewr

Which among the following Indian state has launched a new scheme named ‘Naari Ko
Naman’ ?

Himachal Pradesh

56.  Tmferied o & e T TEHR A 5,000 TR Y Hrft A6 Al dem yE A 2
Hleh
Which of the following State Government launched * 5,000 ‘Kashi Yatra’ subsidy scheme ?
Karnataka
57.  gerER g et 2 freforiea § & fora Rt # 2f. dyuite wied ®ftam § v wriwn § 1,800
HUS T Y A1 o1 IgaTeH 31 Rretr=me frar 7
ARorE
PM Narendra Modi inaugurated and laid the foundation stone of initiatives worth 1,800
crores at an event at Dr. Sampurnanand Sports Stadium in which among the following districts
?
Varanasi
58. Torm s 3 SRt gt finn e wiewn st sfivfer & e Ratd s <6y 2
fifar sm
Which institution released a report titled ‘India’s Booming Gig and Platform Economy”’ ?
NITI Aayog
59. e 3 & ¥ € et T River G, Ao w35 R o w T 2R s
H AT TR ?
Which of the following state government is planning to build an education township on the
idea of ‘Single Entry, Multiple Exit* ?
Uttar Pradesh
60. BT arifericreh! < fore weh o fefree wiew i “Saw v’ g S g ot R 7
g o). omd W anE,
A new digital platform ‘Campus Power’ for student ecosystem has been launched by which
bank ?
MASTER 11 02
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ICICI Bank

61.

TR o fehae T SIeTTes & g1e HHT |re i & ?

How many states of India share border with Bangladesh ?
5

62.

Freferfiaa o & dicle 6l wla gy @ 7
wollel

What among the following is the national currency of Poland ?
Zloty

63.

FrerfaRea & =1 91 YRA 1 T BieT Shg IR TST B 7
ARG

Which among the following is the smallest Union Territory of India ?
Lakshadweep

64.

FrafaRea o @ forees ura e g o Bl W@ v@ R aRke R 7
T o Ugafa

Who among the following has the power to prorogue the Lok Sabha sessions ?
President of India

65.

“Frerigta arfear feew” freferRaa o @ e T wemn straT & 7
2 JACE(

“International day of Non-Violence” is observed on which among the following day ?
2 October

66.

02

T - TE—TTTH1 1 TeRet (% €M) W%ﬁmﬁrﬁgﬁﬁﬁﬁﬂwm@a% ?
whife (ITT)

Tomb (the burial place) of Vasco-da-Gama is situated in which among the following place of
India ?
Kochi (Kerala)
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67. _ 3T QY h1 Tk I SITE Jed § |
EEd
is a popular classical dance of Uttar Pradesh.
Kathak

68. “uimE %y Frfafea # @ o ew A welfta g ¢
Asfiie

“Thomas Cup” is related to which among the following games ?
Badminton

69. g Jh “for 31T B fopeeh! seemen & 7
e ¢ . 3. arege e

The famous book — Wings of Fire’ is an autobiography of
Dr. A. P. J. Abdul Kalam

70. TS T hT 3ufdd afore R
3 gt

Expected result of Global warming is :
All of these

frfiRaa Ig=ae I vget g8 T wwl (3. 71 @ 75) I ARE |

AT g- o Tagaht wht fereelt weepfer it Sitem ot 3iie wafferes smefia MR E | 390%
e % wran-foran 1 oft woeT gan R o SRt wam ferdwt 1 we S, gt o gw-a i e seR
XTI T ITRT T IelT B | 508 5 era ot T R | wmea A A R, e R, 7wl ], s &,
YETER 7, Fg-Te § 3 foeunt o 5@ welen fudia wenffa 31rg & | wi-am 3 372k Sl us Son 3
B -FET S forguit # Ugn -8 T 94§ | & 0 dl af -, T -greeeft gift arg oM § W et
# = gt h el ot o At aersfa verar § s @-vg 9w § B fR-oR Y vSRE, -
wraIf=r, araw el formt ofi i~ ol off Yo o § | e o o Uh-3t SR 35 WTE shAw: HR-
¢ 9IRS # 37T oA B T | 3P fereeft A @ e &) e dl ke € R 7 0 h Sise SUTE
& Y BB | 36 3 s ol SaT iy oft 1 & 3T ke S aret atftnamass ) serfia 3a et
d | ARG 3T TEhRI # € 1 Hl @S 8 | sl % siaue % wwra ) g 7 W@ 9l Ser
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HT~ST )~ i deh Tl o WIS $6eh WG, T Se¥l 31T S 8 Fifeh 39 1% Yt T i
ST SET T8 =ITed | el <ht fRrehrerd & {26 wi-aa Seh vt 3t st 3 Ener westee TR i 3k
At GO ST 6t =T B TET N =TEd § | 39 TR % e A S TR A A ® I 2 3
SR Y ST ST e 3T gfRararait ot =t o wif - forelt & 7 st | 3k gro o e footer g
EHTE % ST WY T§ a1t & gTit oh Ht 3 sl ot arehol &t Sherat it 3 Ry  arrengt dreradt
< W1 Uh-Tsh b QI 3iaa: 58 gfan A Rrer fama § |

71 ITrhe UG- For@ Terees few i S § 7 wafferen weet aeh i @ e R ?
Hi-STT T W G HW, G- o1 Frerh 6w w6 qen war 3§ gher ser F R sm
g1

72. o o ST @ Rl o R it % fote i At R 7 argeRe i e i T gu Haifires see
@b ! MY |
AR TEHR

73. fordw o w1 9 sl o Hi- maﬁm%ﬁﬁmﬁmﬁwaﬁxgﬁﬂwﬁﬁwwﬁﬁﬁ
A ?

ST BETE @ W= % o |

74. =l <hi b R foh wi-ama ooht st st o Wy weee 76w 3 St g s o6 <l
<l gl IO AT & | 56 T b gl A QY R 7
qr difeelt 1 et |

75. 56 YR % TGN & 3 GHR WY Hdl T8 U 2 78T 0 B A Srawr G 2 Rred 3Tl
A 372 379 91 T8 T et ?
i o TET % Hew (Toft 3R I w=it) % @-He, WH-H, TR 3R Srer-ae
R U T He @ s |

Freforfea s1g=a] i vgmt 98 T et (0. 76 @ 80) F swARm |

3T U 61 fererest e w11 a1 @ | e et ofh o1 810 SR § | R -Re afar § s
< el B | AT~ 379 IUeTe GETE @ 9 Te - & st i ares) R Ream 3 3R geR
< HI S T § | T TR T “TAToRI, U iy, g9 Fwifer e’ ST BT 376 S&el T § |
mmﬁaﬁ%wmﬁqﬁﬂaﬁ%ﬁmﬁa@%m%% | 3T Rreres e # 38 po WY

02 , 14 MASTER
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&8 S, T T o 1 1S Feden o ot o ¥, @ A g wiibRme 8 9 § | Teorfierar g gid
STl R 3T ST o AT, 1 T Y AT I8 <1Me, | 3T, I —h TRV 5l U - fer@ent Aiehdl a1
ST 8 AT 19T B et A @ | Arar- e ofit-ofit 52 g S § | 36 g s o R 8 Wt 36
TrY b o T IR Sferer 3+E % v st gry Yo feu Sird @ | 3re wi-wy 9 31 e @ 31
sl Ui | 3T o6 g wi-arg Rreedt it & s A -sma < gor & i e A g s w E | sl
b G ITieTd -9 e 378 T TG ohT Teed W & Teliehi 78l o @ & | 7t shror & 6 g #
at A-9TT SR T § 3R AT 30 T G- W Bt sl T 4 qrehd & | el o e §
Sfer et asft & seerre B @i R | et e | oft e s wi-aTd e sl A1 37 Tia o faw
T 5 TR Qd 7, Tl ITh! TATE 1 THH 81 gral | I8 Gwad: el o STate o1 g & | 31« g
et T R 3R SrgvEqul Geg <Y 38 78 Wi i Savashar e @ | e 6 St @ 7 afg 37w
TET & 1 USSTEE hich =Iet, 3T=IT Jg13m | §H-3W @i < oie o foramd | gg oft =9 @ @ 3l 3=
oft 310 g @ A A @A S | o A 1 39 weeh U g ) D A R A pw A gl wr et R ¢

76. 31T o SPTT o foTT seera ame =ht i o) waitra 6 8 Rred 9 <=9 8 3191 g7 e weh ?

Tor T & forg 38 tfvia s v o IrTeht it 3 wrewit w1 gt o+ 3t 7 oot T
g |

77. I 8 H—w19 A € EH GH-E A Biet sl ol U T drehd & 7
1 HTCT~ AT STeTel Rl <h 1S 3 AT i FGel i § I SE-<ieh 3 IHeh TR <hi 3fe
A E |

78. TTT-UdT G WR-GAR TS GOEd §HTEH] o QU T o Sras(g 3T 3 a1 Wigt & a7 ieiaran
TR &, S U i cen e off | gereht el S hROT o gl e R ?
ifesit % Ficreor & HRoT Sfad el % aeer A o gt Agrestt o sregshie g s @
? ikt Iuht T FA B ST R |

79, FH T S TR ) g e 3 B A R 7
it =) e i iR § aft o T wiftsr B T |

MASTER 15 J 02
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80. T % WY & hl 58T BId U Y 5 Wi-aTT 3 1ohel 1o H1 U HH W1 7 T T 7%
HAER ?
A< b1 e 3 I TRER % s e g, awft 6 s o ag-de) o frah
ST G |

V. 9.81085:

N 2011 @ 2015 % R v foret 3 et wlven 3 suftr, St si wafia sefieart 6 v 3 e
itfereh 3 Sfeeifiga § | et arforent vt arerem w5t aft 3w w amenfe w3 3 |

Q. Nos. 81 to 85:

Data for Number of candidates appeared, qualified and selected in competitive examination from
five districts over the years 2011 to 2015 is mentioned in table. Study the following table and answer
the questions based on it.

4

7T A / District A| Rren B / District B | &0 C / District ©

LA E LTI Y S e ey —r-n m@rﬂ eftet | i
Year| /App| /Quall /Sel| /App | /Quall /Sel | /App|/Quall /Sel
2011| 8000| 850 | 94 | 7800| 810 | 82 | 7500| 720 | 78
2012| 4800| 500 | 48 | 7500| 800 | 65 | 5600| 620 | 85
2013( 7500 640 | 82 | 7400 560 | 70 | 4800| 400 | 48
2014( 9500 850 | 90 | 8800| 920 86 | 7000| 650 | 70
2015 9000 800 | 70 | 7200| 850 | 75 | 8500| 950 | 80
R D/ District D| R0 E /District E

i/ | wafm| ¥t | ] sufr] avivt | s
Year| /App| /Quall /Sel| /App|/Quall /Sel
2011| 8200| 680 | 85 | 6400 700 75
-2012| 6800| 600 | 70 | 7100| 650 75
2013| 6500 525 65 | 5200| 350 55
2014| 7800( 720 84 | 6400 540 60
2015| 5700 | 485 60 | 4500 600 75

81. forw forel < fere forma ot & =rafora Smfear <61 sftea sem =man & 7
e E

For which district, the average number of candidates selected over the years is the minimum ?
District E
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82.

R D & Feftol sufiear w1 wtfawe R D & 3ufera 8 arctl Ht gemr A fha ad das wm g ?

The percentage of candidates qualified from District D over those appeared from District D is
lowest in which year ?
2013

83.

o 2011, Torg Tt o Sufera sufigamt <t gorm o <=ia sefiqart @ i aew o1ites o ?
R A

In the year 2011, which district had the highest percentage of candidates selected over the
candidates appeared ?
District A

84.

wefteefie sttt o Som Rren B @ st sefieant 6t e 36 srafd & g fem A @ =afa
Iufiearl ol G w1 S fehaeT wiewa & ?
The number of candidates selected from District E during the period under review is
approximately what percent of the number of selected candidates from District A during this
period ?

88.54%

85.

e ¢ @ =i sefigam o sfawa fen ¢ @ schl sefleard Kt gormn & form ad & we@ siftres
77
The percentage of candidates selected from District C over those qualified from District C is
highest in the year :

2012

W. ©. 86 & 90 : aTfereht 1 7R Y 3 Frferiga sl 6 3w S |
Q. Nos. 86 to 90 : Study the table and answer the following questions.

5 el o R 5 Al gT ot T STIG| <6l de
Number of products sold by 5 companies during 5 months

o+t / Company
warn/ Month P 0 R S T

sad/ January 130 80 | 155 85 75
wal/February | 155 110 | 88 110 90

wrel/March 180 | 130 | 115 | 100 | 120
ade/ April 160 | 145 | 240 | 140 | 165
wd/May 140 | 120 | 130 | 100 | 165
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86.

A S G S T IETG) <ht EET B Sed § T e @ fehe it h gfig 88 ?
The number of products sold by company S approximately increased by what percent from
January to April ?

64.71%

87.

ST T R AT, et ST g T o) T Seare) <t et T W A, 32% Wies W 4 5 & | 7, vk
3R B R T G0 el 1 TS Tied Sedqre] bl et et feber oft 7
Out of the total number of products sold by company T in March, April and May together,

32% were made of mild steel. What was the total number of mild steel products sold by store
T in March, April and May together ?

144

88.

wEd T ST P, S ST T g o) T Sedre) <ht 3ted e kot 8 7 (3ET)
What is the average number of products sold by company P, S and T in February ?
(Approximate)

118

89.

HTe H T P 3T R G el 77T IEG) <hl et T ol ST H 37 shaf-iall grl ol T 3cT) hi et
I Y I feharT ® 7
What is the ratio of the total number of products sold by company P and R in March to the

total number of products sold by the same company in April ?
59 : 80

90.

SOt Q g e 3R 7E T TireTront o= T IS Y et T SN T HEA A Ut R gRT
I T IcATEl <hl et TET % st T S fehaT & 7
What is the difference between the total number of products sold by company Q in January and

May together and the total number of products sold by company R in the same months together ?
85

02

W. G, 91 & 95 ; Jal form e o =1 ek oy o 36 i farftrer 8 o fergafererier o @ ol qwian @ | =6
T Y A ht T 306 ) fow e st & 3 | (wefi o ferf d femma 1)

Q. Nos. 91 to 95 : The pie chart given here shows the spending of university on various sectors
during a particular year. Study the chart carefully and answer the questions given below it. (All the
values are given in degree.)
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”d
T, faram
TR %%3 Education

80

ST
Research

91, SHTEE W Hl G T TR FhaT i @ o Siran & 2

Approximately what percent of total spending is spent on Hostel ?

12.78%

92. HRIFHHAT o AT | STEUT T T e wicrra 31feres @< fpam e 8 2

Approximately how much percent more is spent on Research than on Events ?

86%

93, Ifg o o R forf¥rar St wX @l <t 18 o1 TR 1,80,00,000 B, A SR TTEAT R @ 6

TS U SEmeE W@ 6 1 Uit @ faadt aftes @ 2

If the total amount spent on various sectors during the year be * 1,80,00,000, then the amount
spent on Infrastructure exceeds on Hostel by :

*2,00,000

94, wWel W, fra hit ger § foham wiewra %0 @< fepr ST B 7

MASTER 19

How much percent less is spent on Sports than on Education ?

35%
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9s.

o e F Qe Gt T @ ) T Hor AR 1.8 g off, d R 3R S W B @ o6l g
T e :

If the total amount spent on Sports during the year was * 1.8 crores, the amount spent

on Education and Research together was :

Full Marks / 9uf 3ieh

.4, 96 ¥ 100 : Fr=forRaa @ o Q@ 3m@) 2001 T 2006 i 7@l & G &) SHuf= A 3B
T 31T STTISTd ST e ST 2 | UT% hi Sieh © Ue 37T I+ o SR < |

Q. Nos. 96 to 100 : The following line graph gives the percentage profit earned by two companies A
and B during the period 2001 to 2006. Read the graph properly and answer the questions.

e ahtH @ dufmt A awn B g siita witwe wma

Percentage profit earned by two companies A
and B over given years

&g 6
& 60 60 -~
E 60 3 ——

By 40 55 2 50
320 36

Eo

2001 2002 2003 2004 2005 2006
ad / Years —B—A

96.

2005 B &y shufrt A 3 B 6t 3R SHA: 3 2 4 % A # off | 2005 T 3Tk S BT FHHL: A
AT ?
The income of two companies A and B in 2005 were in the ratio of 3 : 4 respectively. What
was the respective ratio of their expenditures in 2005 ?

45 : 68

97.

02

u&zoozﬁm’qﬂBmm‘20loasagm,a}2002ﬁmw2ﬂ ?

* 260 HUE

If the expenditure of company B in 2002 was * 200 crores, what was the income in 2002 ?

* 260 crores
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98. ¥f¢ 2001 T et A TR B 1 =1 T AT 3 2001 ¥ S shufil ot et oM 342 hire oft,
A 2001 B G T} <61 et e fper o ?

(TTY = A - =)
102 S

If the expenditures of company A and B in 2001 were equal and the total income of the two
companies in 2001 was * 342 crores, what was the total profit of the two companies together in
2001 ?

(Profit = Income - Expenditure)
" 102 crores

99, oY 2003 # HUHT A IS * 200 HUS UT 3 2003 W oA A 6t 37 2006 F 355 @4 F g0
ot | 2006 T Ut A <Y 3R T oft 7

* 464 HUS

The expenditure of company A in the year 2003 was * 200 crores and the income of company
A in 2003 was the same as its expenditure in 2006. The income of company A in 2006 was :
" 464 crores

100. af¢ 2005 H G <hutit ht 311 A oft, @ 2005 H ot A h =1 1 HTH B w7 § ST =0
a1 7
If the incomes of two companies were equal in 2005, then what was the ratio of expenditure

of company A to that of company B in 2005 ?
15:17
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